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L, T, LT, TT Cross Sections
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L, T, LT, TT Cross Sections Parameters
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Initial parameters 5%, £10%
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L, T, LT, TT Cross Sections Parameters

© The fits with +5% variation in initial parameters -> Fits do not describe well the data
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Data/SIMC Ratio

© The fits with initial parameters
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© The fits with £5% variation in initial parameters
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Data/SIMC Ratio

© The fits with initial parameters
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© The fits with +10% variation in initial parameters
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Investigating the parameters
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L, T, LT, TT Cross Sections
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© Fix all parameters except: pOand p1in T
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Data/SIMC Ratio

© The fits with initial parameters
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© Fix all param except: pOand p1in T
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L, T, LT, TT Cross Sections
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© Fix all parameters except: pOand p1in T, p4 and pSin L
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Data/SIMC Ratio

© The fits with initial parameters
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© Fix all parameters except: pOand p1in T, p4 and pSin L
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